
Subject: Re: A math question.
Posted by StealthEye on Wed, 02 May 2007 16:10:58 GMT
View Forum Message <> Reply to Message

mathomatic ftw!
http://mathomatic.orgserve.de/math/

1-> L = (X+S/2)*W/S-((O*W)/100)

             S
        (X + -)*W
             2      O*W
#1: L = --------- - ---
            S       100

1-> simp

           1    O    X
#1: L = W*(- - --- + -)
           2   100   S

1-> X

         L   1    O
#1: X = (- - - + ---)*S
         W   2   100Even without it is wasn't too hard though. 
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